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Eo HASE

#HE (KG) = 1500 1500
BE (KG) — 10500 13500
BE (KG) = 12000 15000
RANCHE() — 15 15
&= FE(km/h) = 25 25
SMEIR 2K (mm) - 8100 8200
SNERIRSE2 5 (mm) = 1840 2000
HIMUIRT2E (mm) — 2540 2580
8 (mm) — 3650 3650
BE(mm) — 1560 1680
/N E#EE(mm) = >260 =270
BIFHERNA (°) - +3 +8
REntE S = F4.5CS4119 EM™ F4.5CS4168 E M
REHEINE - 89kW 125kW
TREES = HTCE3322ILD BED4318000099
IR - 3 EIREHHDR3022A-1(Q) PEIREIFHDR50-22C-1(Q)
I=2ii = P EIREHHFDR3022A-1(H) PEIREIFDR50-22C-1(H)
ERRAEN — LRERH LRERRA
#mf () = 40 40
_ o Y 4.1+0.1 3.9%0.2
Bohrdim) M 6.410.1 6.51+0.2
| 1% 5 5
Il 4 12 8
gii# (km/h)
1144 25 15
IV / 25
= 5 5
538 (km/h) Il 4 12 8
1144 25 10
ha = 10R20 12R20
ERFEHE kg) - 1500 1500
A SE (mm) = 2900 2900
FEKE (Mmm) — 3700 3700
FEEZE (mm) = 1830 1830
heke R ESZBE (1) - 2 2

A EBEFERETRE, SREEER, LERBTE AR REREBEN.
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